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Note : Four choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question number

on the Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question
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Kisan Traders Prepare their accounts on the basis that it will continue to trade in

140
the foreseeable future . Which o
accounting Principle is being applied
(A) Dual Aspect Concept J»Lsien s (B) Accounting Period Concept dﬂlgéb\))dﬁ&jyv )
(C) MatchingConcept Js*1623b (D) Going Concern Concept JribSl
gL baffed Pt donl JoLinzbrs @)
Assets that can be converted into Cash with in one year of the operating cycle are called :
(A) Current Assets =bitile (B) Liquid Assets =bitii-
(C) Tangible Assets :,lg;"le/ (D) Intangible Assets :Ag;"%lé/;f
B3I Fobl e L Sy J e 21250/ cslf sV 110001 (3)
Sale of goods costing Rs. 1000/- for Rs. 1250/~ . It will increase the Owner's equity by :
(A) Rs.1000/- ¢-s 1000/ (B) Rs.1250/- &2 1250/ (C) Rs.250/- &1 250/ (D) Rs.2250/- &3 2250/
Purchase of machinery for Cash : LS @)
(A)  Increases Total Assets .iulut_»lg:euf (B) Keep Total Asdets Unclanged 05& pATT eIy
(C) Decreases Total Assets Ju:.-yig:bif (D) Increase Assetsand Liability Sl (/b3 s bbbt
Jﬁméq;dm-;_rgffvgq.moO/. fablost¥ -‘aw‘fufa & 400 /- SIL LU bl LB | ()
PRI YN
Kashif is a Customer of Atif. The balance on Kashif's account in Atif's books is Rs. 400/~ debit . Kashif sends Atif a
cheque for Rs. 100/- . What is the balance on Kashif's account after this transaction ?
(A) Rs.300/-Debit 23 &3 300/

(B) Res. 300/ Credit 4/e 1 300/-

(D) Rs.500/-Credit i/es 500/-

(C) Rs.500/- Debit &xj &3/ 500/

Wiritten explanation below each Journal entry is called :

(6)
(A) Entry @U# (B) Namation =2bs (C) Double Entry Lluit lzn (D) Compound Entry LSy
A Cheque which is returned by the Bank is called c‘-m&‘-c_;/w‘&,/.gtﬁ.é (%)
(A) Bearer Jo (B) Order u‘; (C) Dishonoured o 7" (D) Crossed s 1/
! ug&./fdjéii—/b% 2l é‘.'.d( 3&)‘?&/»\{2:¢‘{Jy§ 8
The act of writing the name of other person and signing on the back of a Cheque is called
(A) Crossing t/u’i/ (B) Dishonouring tﬁ)‘/ (C) Issuing tfd& (D)  Endorsement LF"L
Purchase of machinery on Credit is recorded in : c‘-bn{ylzil(,gfzb:lt,( d/’:‘/ )
(A) Purchase Journal .ft Jy 47' (B) General Journal £ (b
Y(©) Special Journal £t J& (D) Sundry Journal £t 0¥
The term Imprest System is associated with ; 93‘; (CU‘"J(V Lot (10)
{A) Cash Book b,fu“f (B) Journal #tis (C) Petty Cash Book S G (D) Ledger A
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The Purchase of machinery was entered in the machinery expense account. What kind of error was this

(A) Principle (s (B) Compensating dr (C) Commission (¥s (D) Omission S

The other name of Pass book is : : (‘_'.(tf/»ﬁ—f Vi
(A)  Deposit Statement s> (B) Cash Statement AT
(C) Credit Statement ub’f Jdest (D) Bank Statement ub"f.,@
Bl PHL T 3000/ Gind A s s12000- 5 Jir 6 Lt 12)
if Bank Statement has over draft balance Rs. 12000/- and Omitted cheques are Rs. 3000 /-, then what
will be the Balance of Cash Book :
(A) Rs.9,000/- Credit ;4/4;,/9,000/- (B) Rs.9,000/- Debit i & 2/9,000/-
(C) Rs. 15,000/~ Credit .:4/4,.,115,000/‘- (D) Rs. 15,000/~ Debit w3 & 2/15,000/-
Rebate is associated with : | o JLJ $esg | (13)
{(A)  Dishonour of Bill Fuipalistc (B) Retiringof Bill  Gubufhe .
(C) Renewal of Bill 480Uk (D) Discounting of Bill ¥k
If Drawee fails to pay bill at maturity it is called : : q.t'lhv( ?,«rb’cu:Lfguufd}:q'fmu)gu/ﬁ (14
(A) Honmourof Bill Euifdk  (B) Renewalof Bill 488Uk
| () Dishonourof Bill (Zbipedis (D) Retiringof Bill bk
| Recurring nature expenses are called : Y, LM@({'}’L—"LMJLJ& (15)
(A) Revenue Expenditure /0yl (B) Capital Expenditure &7 Ui/
(C) Capital Payment f»’blLS:L/ (D) Capital Loss b Ul
Which one is a revenue receipt : < 96/;89‘.46’{9&0' (16)
(A) Loan from Bank J/"c...C; (B) Sale of goods ..2:,’(,( r?l
(C) Investment by Owner (sl ffl (D) Sale of Fixed Assets &2/’&:.9,;:&7‘”
Credit Balance of Trading Accountis : : c‘.u'd-lbéf sV e 81&;"' 17)
(A) Net Profit 8",‘%; (B) Net Loss Ui (O | Gross Profit grl; (D) Gross Loss uh’ﬁ(t}
Interest on drawings in a business is : H ‘cJ:’{o@bf.u-‘-/Qu( (18)
(A) Income a4l (B) Expense &7 (C) Liability Ubss (D) Asset  2b
If transaction totally omitted from journal , will be considered : :‘aubi/;é..lgg.:buufgfzy:”ﬁq :d/l (19)
(A)  Error of Principle © (4» (B) Error of Compensation & b
(C) Error of Commission J’k Ugt (D) Error of Omission uj’k JJ;J!‘
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Pringciples of Accounting Inter 7 ¥ /V{
( Subjective ) (Ist. A. Exam 2024 ) (@)
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Note : It is compulsory to attempt any (5-5) parts each from Q.No.2 and Q.No. 3 while attempt any (03) questions from
Partll. Write same Question No.and its Part No. as given in the Question Paper.

(Part-1) Jio|

- L P>

20=2x10

What is Profession ? Seily y::,,g; i 2 /1} (Jlr‘
Mf@u, g oé’bx (i)
L un g Ky M M- 8 p s M 60)- ozt 1 (i)
If Assets are Rs. 60,000 /- and Capital is Rs . 40,000/- then what will be the Liabilities ?
e Jed v Piee dtenadl (iv)
Why Drawings are deducted from Capital in Accounting Equation?

Explain Drawings .

Describe Imprest System of Petty Cash.
Sketch format of three Column Cash Book.
Explain Bank Overdraft .

Name Kinds of a Cheque.

Whe is Drawee?

What is meant by Dishonour of Bill?
Define Bank Reconciliation Statement .
What is meant by Capital Expenditure ?

Give an example of Capital Loss.
Define the term Net Profit,

Elaborate the word Balance Sheet.

What is an Error of Commission?

(20) Enter the following Transaction in General Journal.

[( Part - 11 )».2]

Yl Pse e &2 350,000/ 5 st 5B 412 1,50,000/- ()
Commenced Business with Cash Rs 1,50,000/~ and Building Rs. 3,50,000 /-

Purchased Goods for Cash Rs 10,000/ .
Deposited Cash into Bank Rs. 5,000/-
Buy Goods from Ali on account Rs 3000/- .

Sold Goods for Cash worth Rs. 4,000/~ .

Bought Type writer from Universal Typer writer Rs 5,000/- . -%?/’"‘A{Wﬁ.u 5,000/- &‘GJ/HIJ%/’EJJ»Q (vi)

Sold Goods on account Rs . 2,500/~ .

Returned Goods to Ali For Rs . 300/

Paid Cash to Ali Rs. 2,600/ in Full Settlement of his account .
Paid Rent to building Rs 6,000/-.

(20) Prepare Bank Reconciliation Statement from the following information . -éj?u@%/l}f el L?:j) 541

Balance as Per Cash Book Rs. 9,000/~ .
Unpresented Cheque Rs . 4000/~ .
Uncredited Cheque Rs. 3,000/~ .

Bank Charges Rs 200/-.

Dividend on Investment Rs 500/- .

Interest on Government Securities collected by Bank Rs . 400/-. -Rs. 400/ lfdﬂ:é..u@i)r {(}/;—c b‘w"/f (vi)

oA AL §EA (vi)

oo & 26008 AF (@)

S a EnS IS )
LA LAY i)
o lo§a s (vii)
oL poid g (vid)

‘e o () 3/()';’
S i Lk (i)
S BAS G (i)
Sesl e BAGL, (iV)
WHJELSSS. (V)

Yoy (vid)
?f{._;l/y/c_ubb Je! (viii)

& Uhgti Ll et s 4w

B 100008 ()
b GRS 500y (i)
ot BB 30008 (W)
Hesimp e a0y & M)

s e T e & 2,500/-&  (vii)
LA B S0y & (Vi)

-e_s/ 6,000/- Lifete @)

-Ks. 9,000/~ J‘L"K_{ A4 (i)
-Rs.4,000/- Lo/ 554 (i)
_Rs. 3,000/- Geat e (1)
-Rs. 200 /- 2/l (iv)
Rs.500- Clopk (V)
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(20) AU Lo plglﬁldﬁt/djb/:fdn/@yc,a{,z: 6/'.0”‘ [
State with reasons Whether the following are Capital or Revenue Expenditures . '
Legal Expenses incurred to protect misuse of Trade Mark . _QF: b’d/.:alglj’ldil? 4.£LI{»;.JWIL&E’(JL%) s 1
Legal Expenses incurred to obtain Bank Loan . - :!JIJclgv'ldﬂﬁ'{é_'{,J;c_u@ -2
Repair charges of a Vehicle due to an accident. -J? ‘J‘Jo(glj'{c»’/(,((j} b orftsle -3
Cost of Stationary purchased for office use . -@fcfll{)g}ur ) /‘.‘/"Aédw }-“; - 4
Traffic Challan Paid due to Violation of Traffic Signal. -gﬁ;lum’o‘.@}{g}/’dﬁd’ P8/ -5
Profit earned on Sale of old Vehicle. ) -LVC’)’&/&:/UJ‘ ¢ (31{; -6
Goods destrayed due to rains and floods . -u.‘.;'yu.b AP c_,pd/s.flkﬂluﬁ@ 4
Office building fell down due to Earthquake . -ijﬂJ}’);,m}:Uz -8
Wages paid to workers to dig the tube well. -d;dm}’fg)w:j‘iéi_»{d P

-ui JJ Ve sail ik 8’:22._,95..&59 )&\?lgfgdfaﬂ(ruﬂj;ﬁ é’-‘ - 10
Received Cash Rs. 25,000/~ for goods soid , which cost Rs. 20,000/- P
(20} Give Journal entries to Correct the following Errors. -_é TaUl /«'IJ C?/)JLU&"J $1O%) 7/'.'? i
: e s1075- S ess S nsTo- G )
Goods sold to Adil for Rs. 1570/- was wrongly entered as Rs. 1075/- .
I PLIbL o0 756/ fors 765 ) Giebe Wes) (iif
A total in Sale Book of Rs. 765/- was carried forward as Rs. 756/- . R
' IS BATE 51200 s S S i)
Rs. 1200/- received from Jameel Credited to Miscellaneous revenue account.
Ut s ARSI e 235 1L 1500/ 181 (iv)
Goods of Rs . 1500 /- returned by Dawood taken into stock but the return was not entered in books.
VIR SN f:u’Ly/c.J’ffzé@}{@’}‘(}'g}u@/zoo()/-8f )
Rs. 2000/- spent on extension of building was wrongly debited to repair account . ’
S A S Hetr e 25007/ B (v3)
A Sale to Mustafa for Rs. 2500/~ was recorded in Purchase Books.
S IML NN B E S5 fid SISt rre Fg 500 8 (vid)

A sum of Rs. 500/- received from Ali whose account had previously been written off as bad debts, Credif to Ali

account .
Interest received Rs. 250/~ Credited to Sales account . 7&:/:«%/%‘ ) /":l{i,.y 250/-3 gfy’df, (viii}
Rs. 5500 /- Paid to Bashir was Credited to Shabir Account. -L)/J/é/g-’-’:u/cf, ,{-"é“.’_u 5500/~ L& IJL&?’ (ix)

_4:)[%5u::h(£1K4,_:/ 3,00,000/- £l 5‘:—/&:/5’2—4:,15/&'5 (%)
Withdrew Cash from Business for the Purchase of personal Car Rs . 3,00,000 /- was debifgd to Car Account
Gty gor e Jo Sl X kag-b Ui X 268 fs1iYufes X esfduie s 6,000/ - Bixy sdhe
-(J_:/Z'/JJU:JL}PJ X fv)_’)dédjyj/(&lbéaﬂbdigzﬂqdrd,v '/G}"
{20) Mr. Y bought goods from Mr. Xin Rs. 6,000/ Mr. Y accepted a bill drawn on him by Mr. X for the same

amount. The Bill was returned to Mr. X. This bill was dishonoured on the due date. Journalize these
transactions in the books of Mr. X Provided.

Mr. X retained the bill till due date. AL B S L X (a)
Mr. X discounted the bill at his bank in Rs. 5,850/~ . -ylﬁauf{’_;u 5,850/—8’-‘4--{«’4,—1461'4J i X" (b)
Mir. X endorsed the bill to his Creditor Mr. Z.. _d)/‘}h ¥ z WA, ;‘4,_’(51’444'4)( ©)
Mr. X sent the bill to his bank for collection. _d)/Jb fvéc‘;'_l}’ l}J df:d»‘%,f&.x (d)

20) s et Lkt 2021 5 31 9oy

Prepare Trading , Profit and Loss account and Balance Sheet of Mr. Usman for the year ended 31st December

2021.
Particulars = k< | Debit x| Credit .:%J/
Opening Stock 02501 50,000
Purchases $ix7 2,00,000
Stationary $ ).'," 6,000
Wages [c%4) 10,000
Cash By 20,000
Furniture g4 80,000
Debitors S 29,000
Insurance u:’u'"‘l 5,000
Sales (Kasy 3,00,000
Creditors WA 25,000
Capital P 60,000
Bills Payable S rabUhels 15,000
Total i 4,00,000 4,00,000
Adjustments .= Vel
Closing Stock Rs. 15000/~ . é_d;}u 15,000/- 23501 _ 1
Qut standing wages Rs. 2,500/~ = q_%.uy@/ &{l 7 :f""f' s 1]:.7»:11 -2
Prepaid Insurance Rs. 1000/- . = ",-{—,o’//%%' {/1 oﬂ‘fﬂ_"’)ﬂ‘ ¢ - 3
Depreciation on furniture @ 10% Per annum . - &R l10 4 Z) -4
————————— T W W
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